
N = 2449
2449 circles in a circle

radius =   0.018939939858
ratio  =  52.798478109877

density  = 0.878508517157
contacts = 3907

 E.SPECHT
31-MAY-2014

N = 2450
2450 circles in a circle

radius =   0.018923614647
ratio  =  52.844026822698

density  = 0.877352818725
contacts = 5456

 E.SPECHT
31-MAY-2014

N = 2451
2451 circles in a circle

radius =   0.018916900872
ratio  =  52.862781634997

density  = 0.877088238698
contacts = 5896

 E.SPECHT
31-MAY-2014

N = 2452
2452 circles in a circle

radius =   0.018920657035
ratio  =  52.852287219194

density  = 0.877794576002
contacts = 5194

 E.SPECHT
31-MAY-2014

N = 2453
2453 circles in a circle

radius =   0.018918554846
ratio  =  52.858160053108

density  = 0.877957442891
contacts = 4406

 E.SPECHT
31-MAY-2014

N = 2454
2454 circles in a circle

radius =   0.018919946118
ratio  =  52.854273144935

density  = 0.878444542145
contacts = 6475

 E.SPECHT
31-MAY-2014

N = 2455
2455 circles in a circle

radius =   0.018917108166
ratio  =  52.862202361964

density  = 0.878538889294
contacts = 4997

 E.SPECHT
07-AUG-2014

N = 2456
2456 circles in a circle

radius =   0.018904391595
ratio  =  52.897761611409

density  = 0.877715508992
contacts = 4340

 E.SPECHT
31-MAY-2014

N = 2457
2457 circles in a circle

radius =   0.018912406964
ratio  =  52.875342727539

density  = 0.878817639989
contacts = 6090

 E.SPECHT
31-MAY-2014

N = 2458
2458 circles in a circle

radius =   0.018907764867
ratio  =  52.888324295530

density  = 0.878743780648
contacts = 4295

 E.SPECHT
31-MAY-2014

N = 2459
2459 circles in a circle

radius =   0.018901205027
ratio  =  52.906679683632

density  = 0.878491401075
contacts = 4715

 E.SPECHT
31-MAY-2014

N = 2460
2460 circles in a circle

radius =   0.018897633171
ratio  =  52.916679614579

density  = 0.878516527114
contacts = 4903

 E.SPECHT
31-MAY-2014


